Tao Nan School

Primary 3 Mathematics End-of-Year Examination 2008

Name: } Date: 24 Ociober 2008
Class: Primary 3 ) Time: 8.00 a.m. — 9.30 a.m,
Parent’s Signature: Marks: / 80

Sectlion A {20 marks)
Questions 1 to 10 canry 1 miark each. Questions 11 to 15 camy 2 marks each.
For each question, four oplions are given. One of thein is the correct answer.

Make your choice (1, 2, 3, or 4). Shade the correct oval on the Cptical
Answer Sheet (OAS).

1. in 4895, the value of the digit ‘8" is

{1} 8

{2} 80
(3] 800
{4) 8000
2. The time shown on the clock is

{1} 15 minutes to 4
{2} 15 minutes past 6
{3) 15 minutes to 7
{4) 15 minuies past 7
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3. The sum of 2572 and 1339 is

{1} 1233

{2) 1257

{3} 3901

{4) 3911
4. Express 3 kg 40 g in grams. -

(1) 340 g

(2 3004 g -

{3} 3040 g o

(4} 3400 g .
5. What is the fotal volume of water in the sel of beakers below?

(1} 17 510ml
(2) 1/ 550ml
(3) 1!/ 600mi
(4 17 650 mi

6. Ashing is 9 mlong. Sili cuts off 5m 80 cm of it.
How much string is lefi?

(1) 32cm

(2) 320 cm
{3) 420 cm
{4) 480 cm
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7. The mass of the peanuts is

(1} tkg4g

{2) 1kg40g

(3} 1kg 400 g -
{4} I kg 450 g -

8. Bala had a two-dollar note, 2 ten-cent coins and some -
twenty-cent coins . if he had $3.40 altogether, how many
twenty-cent coins did he have?

{ty, 6

{20 8
6] 10
(4} 12
9. What is the missing digit in the box below? .

5 []7 u

[
~0
| (o))
o

(1)
{2)
{3}
(4)
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10. A supermarket is open from 9.00 a.m. to 10.30 p.m. daily.
For how long is the shop open each day?

(1} I h 30 min
2} 12 h 30 min
{3} i3 h 30 min
{4} 19 h 30 min
1. How many more parts must be shaded so that half of the figure
is shaded? ' -
- L)
’ (1) 9 -
2 8 _
1)
4 6

12. = 33

= 42

What is the value of /\ ?

(1) ?

e 210 e
(3] 11
(4 22
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13. 2- is equivalent to

(7}

cm.

18
o
18
12
3 ol
{3) 3
15
4 el
(4) s
14. The perimeter of the square is
7 cm -
(1) 14
{2) 21
(3) 28
4) 49

15, The shaded areq of the figure is

()
(2]
(3)
(4}

8m

v

2008 - P3 - SA2 - Maths — Tao Nan




- Name: { )

Closs: Pimary 3¢ )

Section B (20 marks]
Each question corries 1 mark.  Wrile your answers in the boxes provided.

14, Wrte ihe number 28 512 in words.

17. Complete the number pattern below.

5585, 580, 405, . 655

- AnNs
18. 2430 = 2000 + 400 +
Ans:
19. 3h35min = min
Ans:
6
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2C. Divide 889 by 8.
The quofient is

21. The product of 705 and 6 is

Ll

22. 100 x 9 = 100 x 5 +

23. 40 minules after 10.45 p.m. s
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X

Ans:

Ans:

Ans:




- 24, 2005m = km m

AnNs: at|
25. Subtract. Write your answer In its sitmplest form.
-2
12
- Ans: |
26.
M If the mass of the appie is 250 g.
what is the mass of the 2 mangoes?
0
lngTSOOg {
ANs: o

27. The capacily of a bottle is 2 litres. -
There are 1245 ml of juice in the bollle. ‘

How much more juice must be added to fill the botfle completely?

Ans:

- ml
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Use the bar graph below to answer questions 28 to 30.

The bor graph below shows the number of customers at a shopg over
5 days.

50
45
40

- 35

Number of 30
customers

25
20
15

Mon Tue Wed Thu Fri

Days of the week

28. How many more customers were af the shop on Wednesday than
on Tuesday?

Ans:

29. What was the total number of customers who visited the shop from
Wednesday to Friday?

Ans:

30. On which day were there iwice as many customers as on Monday?

Ans:
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31. How much lime does George spend in school if he gtlends school

from7.15 a.m. 10 1.00 p.m.?

Ans:

32.  Look at these angles and complete the sentence.

Angle

33. How many right angles are there inside the figure shown below?
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is the biggest.

Ans:

nin

Angle

Ans:




34. Amrange the fraclions below in descending order.

s 4 3
10 5 10
Ans:
35. Caili cut a cake into 12 slices.  She ate 3 slices and her sister ate

2 slices. What fraction of the cake had she left?

WA
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Name: {
Ciass: P3 { ] 40

Section C {40 marks) _ .
For each of the following word problems, show all your working ciearly and
wrife your answers in the spoaces provided.

36. Mr Seng walked 2 km and ron 850 m.
Whai was the total distance he coversed?

Answer:

37. The mass of a durianis 1740 g.
it is 780 g heavier than a pineapple.
What is the mass of the pineapple?

durian P

pineapple

Answer;

12
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38. A baker baked 140 fruit tarts. g of the fruit iarts were sold.

How many fruil 1arts were left unsold?

J

140 g

A

Ans:

39. Susan has four times as many books as Jake. She has 24 more books
than Jake. How many books does Jake have? )

Susan

Jake

Answer:
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- 40.  Zhiming begins doing his homework at 2.30 p.m.
' The tabie below shows how long he takes 1o finish each of his subjects.
Al what fime will he finish doing all his homework?

Subject Durgation

English Language 25 minuies

Chinese Language 15 minules

Mathematics 20 minutes ]

; later =
i I
i . I
2.30 p.m.
Answer:

41. Jidling and Meifang had 40 stamps altogether. Jiating had 8 stamps
more than Meifang. How many stamps did Meitang have?

Answaer:

14
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42. 5Srectangular cards of the same size are ploced together to form a
large rectangle as shown beilow.
Find the pernimeter of the large rectangle.

Answer:
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43.  MrWong walked 450 m to a bus-stop. Ther he Trov_eiied by bus to
the library. The disignce he raveiled by bus was 2850 m longer than

the distance he walked.—-What was the 1olal disiance that Mr Wong

fravelled?

Ans:

|

I6
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. 44, Sharifai spent half of her money on G walch. She spent half of the

remaining mcney on a bag. She had $30 ieft.

How much did she have at first?

o
Q
©

waich

L

[ VAN W

Ans:

)
1
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45.  There are 20 cars and motorcycies in a car park.

There are 56 wheels allogether.
How many cars are there?

|
t
il

Ans:

End-of-Paper

18
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18)30 19)215 20)111

11.25 p.m.

32)B 33)8 1 .34)4/5,7/10, 3710,

36)2kms 2000m
20(}0m+850m 2850m

37)1740g- 7809 9609 -
The mass of: the pmeap;.!n i5960g. o

38)140 7=20
20x2=40
40 fruit tarts were Ieft unso!d

Page 1to 2 page 1
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39)24-3=8
Jake kas 8 h

d(})EEﬁEm 5=40min
O+ 20min=50min
=ih -

43)2850m+45@¢,.n=:_»,3‘,1(~)0 -

0m=3750m

45)There are 8
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